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101 @124 10,876 15,557 N4, 681
0B 2R (I 22TES 10,876 15,557 4,681
oN0B0IZ+E)
2,000,000 *1H*43] 8,000
o HAEFIIH] 1,438,000& *1Z +23] 2,876
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= 1,000
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=M AUB
M HZYRAZH(AZSI 1)
chol: ol (19 @)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
[Ea 4,400
oFEHU= 1,300,000 x 1122 28,600
[ 14,300
= 2,860
Ea 11,440
SRAL2eIAY lAHl R (XHA) 242,220 195,600 46,620
101 ©1AH| 147,400 108,000 39,400
03 SR (RIH )22+ 147,400 108,000 39,400
odI2sE 1,100,000 x11&E 23] 24,200
oJlgsd 2,200,000 *11E 43| 96,800
cHHZAH & WSEXH|
200,000« 11H*12& 26,400
M4 HASFEESS 94,820 87,600 7,220
M SRA(RIAHY) 220N BEERE=3 S 94,820 87,600 7,220
clIEEE FEHS
60,0002« 11E* 122 7,920
oMNEE REHS
30,0003 *11&=12& 3,960
oddEY FE=S
160,000« 11E =123 21,120
o213 223
160,000 *11E* 122 21,120
&Nz & =2
3,700,000& 11 40,700
Iz AAYSIHE 8] K& 201,940 187,200 14,740
) 100,970
& 30,291
= 70,679
101 @124H| 201,940 187,200 14,740
Jl 100,970
< 30,291
[Ea 70,679
03 SRA(RIH L) 222+ 201,940 187,200 14,740
= Q12| 3,200,000 x5« 12 192,000
Jl 96,000
=S 28,800
s 67,200
oI A 994,000 x5 +23] 9,940
Jl 4,970
=S 1,491
s 3,479
HAALZXIHE 1] X3 (KA 65,520 58,200 7,320
101 e124d| 16,200 14,400 1,800
03 SR (RINHA) 222+ 16,200 14,400 1,800
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o HAEZ I 1,350, 0003 *6H +23| 16,200
N HAzREIS 49,320 43,800 5,520
M BLRA(DIHA) 22X B82S 49,320 43,800 5,520
CEXMS % $48
3,300, 000246 19,800
oRpl0i3 a3
145,00021+6 2 * 122 10,440
oAUTH 2o
140,000 x6H * 12 10,080
clEEE BEF 65,0003 6« 123 4,680
SMNEE 2Y2 60,0003 «6F =123 4,320
SAAY=XNME U TAIE o1 X2 38,156 0 38,156
| 19,078
T 5,723
[ 13,355
101 2124l 38,156 0 38,156
| 19,078
& 5,723
= 13,355
03 SRH(RINHS) 22X 2+ 38,156 0 38,156
o Q124H| 3,100,000 x1F +12& 37,200
| 18,600
& 5,580
= 13,020
o HIIE AtH| 478,000 x 15 +23| 956
J| 478
& 143
= 335
XIOHOtAI HIE QI AHIXIA 380,922 294,025 86,897
J| 304,738
[ 76,184
101 2124l 313,122 243,445 69,677
| 250,498
= 62,624
03 SRH(RINHL) 2224 313,122 243,445 69,677
oJll2g 2,020,000 x8F » 12& 193,920
| 155,136
= 38,784
X 200,000 x8H*12& 19,200
| 15,360
[ 3,840
oJ|ZYg 2,020,000 x8H *43] 64,640
| 51,712
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[Ea 12,928
ocHEFIHI 1,230,000 «8H <22 19,680
Jl 15,745
[Ea 3,935
odIsd 616, 1252 x8H*22] 9,858
Jl 7,886
= 1,972
oG IIEa| 91,0003 8 +8L 5,824
Jl 4,659
s 1,165
WM HsEE=S 67,800 50,580 17,220
7l 54,240
= 13,560
4 R (RIHA)22N BEERES S 67,800 50,580 17,220
cl1E8EE FE= 65,0002 x8& * 122 6,240
Jl 4,992
= 1,248
oM IEE FE= 50,0002 «8& =122 4,800
Jl 3,840
2 960
o200l B3
155,000 x8&~ 123 14,880
Il 11,904
2 2,976
oY 23
155,000 x8&* 122 14,880
Jl 11,904
s 2,976
cEAHg & 8
3,375,000 x8H 27,000
Il 21,600
= 5,400
Jl=3H 21,710 24,330 N2,620
Jl=23H| 21,710 24,330 N2,620
201 er2 3| 15,170 15,170 0
01 AtR2t2|HI 9,550 9,450 100
o ZAEK 25,0002 x102t A+ 102 2,500
oZ2lfH &l 250,000 *3JH*52] 3,750
SARES 20,0002 *x105+62] 1,200
CHAES 20,0003 x125+53] 1,200
oHYSIAY =& 4|
9,000 x2& x50 900
02 s3=gbl 5,620 5,720 A100
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SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
S FEREEENEC
1,405,000 & *43] 5,620
203 YR =&IH| 6,540 6,660 A120
04 EASHAH 2= 6,540 6,660 A 120
o300 =1
(400,000+(5, 0002 x29% ) )x 12& 6,540
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